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KH247 9 REREBIRZED—HREIZKYNEAZEH-AD - HFHH
(H27.9.30IR &£ JATERET & (K=F) A F Al A O (G5

BT (AF)a—F {TERET (K3) 4 10 11 12 13 14 15 16 17 18 19
7040 ZRTKEFHET 1 0 1 3 1 4 6 3 5 3
7050 Z REFEHIGHET 3 1 2 2 3 3 1 1 0 0
9999 ZR®MEXE 10 5 8 15 16 12 15 14 16 7
8011 PRAETFRERLY 0 0 0 1 1 1 2 0 2 2
8012 IRAETFEERA 1 1 1 0 1 4 7 4 4 5
8013 IRAETFRER (S 3 0 1 2 0 0 2 0 0 0
8021 PRAET KLY 0 0 0 1 1 0 1 0 3 0
8022 IRAETIR KA 0 0 0 0 0 0 0 0 0 0
8023 IRAET KK 0 0 0 0 0 0 0 0 0 0
8031 IRARET R ALY 1 2 3 4 2 1 4 2 3 5
8032 IRARETR A A 0 1 0 0 0 0 0 0 0 0
8033 IRARET R A (X 1 0 0 0 0 0 0 0 0 0
8041 R AHT B40F L 0 1 0 0 1 0 0 0 1 1
8042 IRARETELIRA 1 0 0 0 1 2 1 0 0 0
8043 IRAETELIR (X 0 0 0 0 0 0 0 0 0 0
8044 IRARETEEIRIC 0 0 0 0 0 0 1 0 0 1
8045 IR A BT LRI 1 1 1 1 0 1 1 0 2 0
8050 IRARETIRA 1 3 0 1 0 2 1 4 1 3
8060 PR AT 1 0 0 0 1 3 2 1 2 0
8070 IRAETER 0 2 1 1 1 1 1 1 1 3
8080 TN E: § 1 0 0 1 1 0 1 1 0 0 0
8090 PR A BT iEE 3 0 1 0 0 1 0 1 1 0
8100 IRARETH /R 0 0 0 0 0 0 0 0 0 0
8110 R ASHET )] 5% 1 0 0 1 0 1 0 0 2 0
8120 IRAHETEE 7 1 3 2 1 1 1 3 4 3 1
8130 IRAHETH L 1 1 1 0 2 1 1 3 2 2
8140 IRAETEEERT 1 1 3 3 3 3 3 2 4 4
8150 IRAETEEERL 3 1 0 0 1 2 0 2 0 0
9999 IRAR X ET 20 17 15 17 16 25 31 24 31 27
9010 FTHEHIAREH 12 12 9 12 7 7 12 4 2 5
9020 FTHEFEEAR 2 8 7 6 7 8 10 11 6 11
9030 FTHI#%£H 34 33 34 30 28 17 22 18 271 21
9040 FTHEIHEREH 18 21 24 30 29 17 28 19 32 23
9999 FTHREXE 66 74 74 718 11 49 72 52 67 60
9110 HET AL 9 10 10 14 14 15 17 12 10 12
9120 HET & 4 4 5 5 9 9 7 9 4 4
9130 FEHHRE 1 1 2 1 2 5 2 4 3 6
9140 SERT T A 6 9 4 6 7 9 7 10 15 14
9150 SEET 65 6 9 9 8 10 9 14 3 5 9
9160 fRETERFT 11 10 7 11 13 16 14 10 14 14
9170 $ERTN A 14 16 14 20 16 19 19 14 19 19
9180 SRR 85 5 8 12 14 9 9 3 12 15 6
9190 fRETZ O 0 4 5 0 3 5 3 4 4 8
9200 5% BT B 155 5 3 6 7 3 4 3 3 3 2
9210 SEET=EH 7 4 13 4 9 7 8 10 6 5
9220 SR BT 9 17 13 12 9 10 11 18 12 19
9230 ST B M 17 12 10 15 10 10 11 9 9 15
9240 SEHTIE R 3 1 1 4 5 2 5 1 5 10
9250 SEETAL Frith 16 13 13 10 10 8 6 12 12 16
9999 FERXE 113 121 124 131 129 137 130 131 136 159
9310 R[ZHET AR 0 2 0 3 2 2 1 6 7 7
9320 R ISETIE 2 3 1 3 7 8 4 8 5 1
9330 RIGHT/NE 1 2 2 2 6 4 1 4 3 3
9340 RIZHETE 6 5 9 11 8 6 12 9 11 12
9999 RGRXE 9 12 12 19 23 20 18 27 26 23
9410 RETTE 6 8 11 10 8 5 9 9 5 7
9420 RETHAE 3 1 3 2 2 2 2 2 3 3
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(H27.9.30IR &£ JATERET & (K=F) A F Al A O (G5

THBET(AF)3—F {TEHET (K=F) &
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KH247 9 REREBIRZED—HREIZKYNEAZEH-AD - HFHH
(H27.9.30IR &£ JATERET & (K=F) A F Al A O (G5

TRET (AF)a—F {THRET(KF) % 20 21 22 23 24 25 26
10 H BT 2 5 3 1 3 5 2
20 Jidul:ig 0 0 1 2 1 2 2
30 AT 5 6 2 2 3 4 0
40 LSHT 0 1 4 1 1 1 2
50 AET—TH 7 3 5 9 2 1 5
60 ABTZTH 2 1 5 2 5 4 2
70 ABT=TH 7 6 4 4 7 5 4
80 AT YR ET 0 0 0 0 0 0 0
90 FEFA T IR AT 2 3 3 2 5 5 1
100 LD FLET 3 1 0 6 2 1 3
110 ¥ATHT 28 21 28 21 19 27 26
120 AT AHT 3 5 1 4 4 1 2
130 WEFHT 7 6 8 2 8 10 9
140 E6 (=] T 0 0 1 0 1 0 0
150 FEF FrET 6 10 7 13 9 5 6
9999 KRB X 72 68 72 69 70 81 64
510 ABTETH 5 4 3 9 2 6 5
520 e EEMT 2 1 1 0 0 1 0
530 J\ & ET 3 3 5 2 0 4 1
540 =) 11 4 10 8 7 8 6
550 # b BT 11 8 6 2 7 6 5
560 = ZET 3 1 4 3 5 4 5
570 EEHT 0 1 1 1 3 0 1
580 FrEAET 0 3 2 1 2 2 6
590 HEET 0 0 4 2 3 0 0
600 FRET 17 14 10 11 8 12 10
610 FEET 5 3 5 5 4 2 1
620 HERT—TH 0 0 1 1 0 0 0
9999 J\RBXET 57 42 52 45 41 45 40
1010 R HT 6 7 5 5 6 3 7
1020 Naoyl:ii] 6 5 3 9 3 10 5
1030 i BT 7 2 5 3 5 2 3
1040 iyl 7 8 7 9 5 10 11
1050 K EBT 11 11 12 14 9 11 7
1060 F _EHT 10 9 8 11 4 10 5
1070 wr R ET 14 18 12 9 14 17 15
1080 & HHET 8 11 12 6 8 6 11
1090 HEHRT 17 13 8 9 8 5 11
1100 L BEHT 8 7 11 10 6 9 8
1110 12 1EET 5 2 2 3 5 7 6
1120 f21E STHT 1 1 0 0 0 1 1
1130 + &< HT 1 0 2 0 0 0 0
1140 Fi R ET 0 0 0 0 1 0 0
1150 #FRET—TH 1 0 1 3 3 3 1
1160 FRETZTH 8 2 4 4 0 3 4
1170 JE7KHET 1 2 2 3 3 4 5
1180 EBEAHT 9 9 9 5 6 2 3
1190 F&F ARHET 3 2 5 0 3 3 3
1200 RKFE—TH 2 5 2 1 1 1 0
1210 RKFEHIZTH 2 2 3 2 5 3 2
1220 FTET 3 3 5 1 1 1 1
1230 HXHET 1 3 4 1 1 1 2
1240 5T 3 1 5 4 1 5 6
1250 TEE AT 5 2 1 4 3 5 3
1260 pjER==E: 3T ] 1 0 0 0 1 0 1
1270 EHEH 5 3 3 1 1 6 2
1280 PRAEHT 3 2 2 2 4 2 2
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KH247 9 REREBIRZED—HREIZKYNEAZEH-AD - HFHH
(H27.9.30IR &£ JATERET & (K=F) A F Al A O (G5

TRET (AF)a—F {THRET(KF) % 20 21 22 23 24 25 26 27 28 29
1290 SRET 3 1 2 2 2 3 6 4 2 4
1300 4 ZEHT 2 4 1 3 1 2 3 1 2 4
1310 RIGHET 2 5 0 1 1 1 0 2 3 2
9999 ANHBERXE 155 140 136 125 111 136 134 144 134 177
1510 HEHID L BT 19 19 18 10 14 9 12 13 27 16
1520 FEHD T BT 13 9 7 10 9 7 9 10 18 10
1530 FE #0 ST BT 5 7 1 5 10 8 9 7 7 1
1540 Kig=HT 15 13 10 10 10 3 9 9 11 9
9999 FERNAR: X B 52 48 36 35 43 27 39 39 63 46
2010 ZEHAET 1 4 2 2 2 3 12 1 2 5
2020 = EGHT 8 10 6 11 6 11 6 4 6 11
2030 JNET 1 0 0 1 0 1 1 1 0 0
2040 WET—TH 2 3 3 7 3 1 3 5 0 4
2050 HWET=TH 5 4 5 6 4 2 4 2 2 3
2060 Yo zamr 0 1 0 1 1 1 0 0 1 4
2070 FET—TH 1 7 5 4 4 2 4 4 6 5
2080 FRETZTH 5 6 3 6 1 6 1 2 7 3
2090 iR AT 20 27 28 41 32 29 30 29 23 39
2100 ==p i1} 6 1 1 9 10 4 7 7 6 8
2110 HEHIFTET—T B 8 6 2 6 6 6 3 3 3 2
2120 WEHIFET =T B 10 6 6 4 2 3 6 4 6 8
9999 ZEREXE 67 75 61 98 71 69 77 62 62 92
2510 FAUEET 35 36 45 32 28 47 50 39 51 43
2520 K EEET 32 25 37 9 17 24 28 25 34 26
2530 = /NEET 11 3 6 5 9 7 10 10 12 11
2540 Hi5HT 8 12 8 4 4 7 8 10 10 5
2550 ShET 6 5 2 2 6 6 3 8 9 5
2560 =1=1) 23 17 14 13 14 8 12 23 26 20
2570 KEHRT 0 0 2 1 1 0 1 0 0 3
9999 MEKREXE 115 98 114 66 79 99 112 115 142 113
3010 RATHET 15 14 14 13 9 12 14 15 11 19
3020 dEiTHT 20 15 18 19 8 11 17 15 20 28
3030 ia:52:) 21 13 15 20 11 11 12 14 21 18
3040 TR _EET 4 4 0 0 2 1 3 5 3 1
3050 T BN ch BT 39 38 39 40 29 30 45 56 41 48
3060 HETHET 11 3 8 7 2 7 4 6 9 9
3070 T B ET 12 17 9 8 6 6 7 9 4 6
3080 M ch T 6 13 7 9 8 10 8 8 9 14
3090 H R AT 6 13 6 8 4 4 8 2 9 10
3100 22 l==lsicy: ) 16 8 16 24 25 18 12 20 14 14
3110 z:==Bld:!1) 12 8 10 9 6 11 14 13 9 6
9999 INTFEREXET 162 146 142 157 110 121 144 163 150 173
3510 LR LH 4 2 3 5 6 0 2 2 3 3
3520 & RouET 8 6 6 4 7 3 4 3 4 5
3530 ERTHT 17 22 18 11 19 27 20 20 15 10
3540 Z R KHET 13 7 9 6 4 4 5 4 6 7
3550 AEHET 16 11 15 17 17 15 17 14 20 15
3560 =T ERHAT 4 6 4 2 2 4 8 4 12 5
3570 = T 7T 21 18 15 9 15 15 6 14 24 23
3580 SE L FTET 13 16 11 16 15 9 10 6 16 14
3590 JEET 0 0 0 0 0 0 0 0 0 0
9999 = ERRE 96 88 81 70 85 77 72 67 100 82
4010 )1 9T 3 3 3 5 3 6 1 3 4 6
4020 fE S HT 5 2 2 1 1 2 2 1 0 0
4030 5T 3 6 6 4 5 3 0 5 1 3
4040 = HE A ET 5 4 5 5 10 8 6 7 10 7
4050 K EHT 13 12 10 12 10 13 11 7 12 10
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(H27.9.30IR &£ JATERET & (K=F) A F Al A O (G5

TR (AF)3—F {TIRET (K=F) £ 20
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KH247 9 REREBIRZED—HREIZKYNEAZEH-AD - HFHH
(H27.9.30IR &£ JATERET & (K=F) A F Al A O (G5

TRET (AF)a—F {THRET(KF) % 20 21 22 23 24 25 26 27 28 29
7040 ZRTKEFHET 6 1 3 2 4 3 2 4 0 2
7050 Z RETHIAGHT 1 0 2 3 3 0 2 0 1 0
9999 ZRERRE 17 7 19 13 12 10 10 10 10 18
8011 PRAETFRERLY 1 2 2 3 1 2 2 1 0 1
8012 IRAETFRERA 1 4 4 0 4 3 0 3 2 3
8013 IRAETERER IS 0 1 1 1 1 4 1 1 0 3
8021 PRAET KLY 0 0 0 2 1 2 3 0 2 0
8022 IRAETIR KA 0 0 0 0 0 0 0 0 0 0
8023 IRAET KK 0 0 0 0 0 0 0 0 0 0
8031 IRAET ALY 2 2 1 3 0 1 3 1 5 3
8032 IRABET A A 0 0 1 0 0 1 0 1 1 0
8033 IRARET R A (X 0 1 0 1 0 0 0 0 0 0
8041 IRAETESIRLY 0 1 1 0 2 0 1 0 0 1
8042 IRARETELIRA 1 0 2 2 2 0 0 0 0 2
8043 IRAETELIR (X 1 0 0 0 0 0 0 0 0 0
8044 IRARETEEIRIC 0 0 0 1 0 2 0 0 0 1
8045 N T ES 0 0 0 0 1 1 0 0 0 1
8050 IRARETIRA 2 1 0 3 1 1 0 6 1 6
8060 N 6 1 1 2 4 3 2 4 2 0
8070 IRAETEAR 0 1 3 1 0 0 0 0 0 1
8080 TN E: § 1 0 0 1 0 1 0 2 1 0 1
8090 PR A BT iEE 0 0 0 0 0 2 1 2 0 0
8100 IRARETH /R 0 0 0 0 0 0 0 0 0 0
8110 R ASHET )] 5% 1 1 2 0 0 2 0 1 0 0
8120 IRAETEE 7 2 2 1 0 0 1 1 0 0 0
8130 IRAETH E 2 0 1 0 1 0 1 0 0 1
8140 IRABTBEXRT 5 4 2 1 0 2 0 1 1 1
8150 RABTBREEL 3 3 1 3 3 0 0 2 1 0
9999 AKX ET 27 24 24 23 22 27 11 24 15 25
9010 FTHEHIAREH 6 6 6 10 6 5 15 12 17 14
9020 FTHEFEEAR 7 3 7 5 5 11 5 3 5 5
9030 FTHI#%£H 12 15 18 13 17 15 19 24 24 26
9040 FTHEIHEREH 27 14 20 22 30 19 25 29 23 26
9999 FTHREE 52 38 51 50 58 50 64 68 69 71
9110 BRI T HIE 14 8 9 3 10 13 6 8 4 7
9120 HET & 5 7 3 5 3 3 6 1 5 6
9130 FEHHRE 3 4 2 4 3 1 0 2 2 3
9140 SERT T A 9 4 18 3 6 5 11 10 10 7
9150 $EET 85 11 6 6 8 6 3 6 9 7 7
9160 fRETERFT 11 6 14 16 11 7 19 9 7 23
9170 $ERTN A 16 10 17 11 21 21 16 17 14 17
9180 SEHTEE 12 10 5 9 16 8 14 13 12 12
9190 $ERTZ O 4 1 6 4 1 3 1 3 4 2
9200 5% BT B 155 0 6 8 2 7 7 5 5 6 4
9210 SRETE 8 10 5 9 14 7 7 8 5 7
9220 SEETTE 8 9 10 7 6 13 5 6 10 12
9230 E =R 15 17 9 12 9 10 10 11 18 11
9240 SEETIE R 10 9 10 5 3 7 3 8 6 5
9250 SEETAL Frith 14 8 13 12 8 13 23 8 15 13
9999 FERXE 140 115 135 110 124 121 132 118 125 136
9310 R SETA{R 3 1 1 2 3 3 3 3 3 3
9320 HGHTAL 8 5 4 2 5 1 4 3 6 2
9330 R GET/INAE 0 2 0 3 0 2 4 2 6 4
9340 R ISETE 15 11 9 7 6 3 8 3 7 5
9999 RGRXE 26 19 14 14 14 9 19 11 22 14
9410 RETTE 5 5 6 3 6 4 711 10 6
9420 RHETHIE 3 0 3 1 2 2 4 1 4 1



KH247 9 REREBIRZED—HREIZKYNEAZEH-AD - HFHH
(H27.9.30IR &£ JATERET & (K=F) A F Al A O (G5

TRET (RF)a—F {TEHET (KF) 4 20 21 22 23 24 25 26 27 28 29
9430 RETEAKR 1 2 1 1 2 1 2 3 2 1
9440 RETAGEF 0 0 0 0 0 0 0 0 0 0
9450 RETHER 0 0 0 0 1 1 0 0 0 0
9460 RETCHE 0 0 0 0 0 0 1 0 0 0
9470 RETER 0 0 0 0 1 0 0 0 0 0
9480 RETHER 2 1 1 1 0 0 0 0 0 0
9999 RBREXE 11 8 11 6 12 8 14 15 16 8
99999 &5t 1207 1126 1137 1075 1051 1059 1136 1129 1228 1277



KH247 9 REREBIRZED—HREIZKYNEAZEH-AD - HFHH
(H27.9.30IR &£ JATERET & (K=F) A F Al A O (G5

TRET (AF)a—F {THRET(KF) % 30 31 32 33 34 3 36 37 38 39
10 H BT 6 3 3 3 3 4 1 3 3 3
20 Jidul:ig 7 2 2 2 2 5 6 5 4 5
30 AT 4 5 0 3 3 3 3 7 4 5
40 SSHT 2 3 3 1 1 1 3 3 2 1
50 AET—TH 5 2 6 5 1 3 2 3 3 2
60 ABTZTH 7 4 6 6 2 8 3 8 7 2
70 AET=TH 5 2 7 7 5 4 4 8 10 3
80 AT YR ET 0 0 1 0 0 0 1 2 1 0
90 a3 ET 4 6 5 3 2 1 1 8 7 4
100 LD FLET 6 2 0 1 4 2 3 5 4 2
110 ¥ATHT 21 24 20 32 22 26 19 30 35 36
120 ¥ATAHT 3 2 5 4 5 6 3 6 7 3
130 tEFET 4 12 5 8 7 5 4 7 11 13
140 £51 [ AT 1 0 0 0 0 0 0 1 1 0
150 WEFHET 9 8 9 13 12 8 16 9 9 13
9999 KRB XET 84 75 72 88 69 76 69 105 108 92
510 ABTETH 11 9 9 3 11 6 11 21 17 11
520 e EEMT 6 1 0o 11 6 3 5 1 6 9
530 J\ & ET 5 4 4 9 5 3 10 7 6 3
540 =) 7 7 6 9 9 9 8 12 10 12
550 # b BT 6 6 6 1 11 3 5 5 13 6
560 = #RET 2 1 1 2 2 2 1 2 2 3
570 EEET 2 1 1 2 2 0 2 3 2 2
580 #hBHET 1 6 2 2 2 4 2 1 3 2
590 HhiEET 1 1 0 0 1 0 1 1 0 0
600 FRET 12 16 17 13 11 12 22 16 15 11
610 EHT 3 0 2 4 2 6 3 5 4 6
620 HERT—TH 0 0 0 0 0 0 0 0 0 0
9999 I\ XET 56 52 48 56 62 48 70 74 78 65
1010 BRAHET 3 6 6 6 4 3 3 3 3 1
1020 L AET 10 11 6 13 6 10 6 15 12 9
1030 o HT 11 4 7 7 6 12 11 12 12 9
1040 Ficfay:ii] 17 15 20 16 13 16 6 16 11 6
1050 K AAT 17 21 10 12 14 8 20 15 20 12
1060 F _EHT 12 14 11 14 14 10 7 10 13 15
1070 wr R ET 25 17 14 12 17 23 23 23 10 13
1080 EHET 9 12 15 10 14 8 5 11 10 14
1090 HEHRT 19 10 10 12 15 13 13 16 19 15
1100 rRER 7 13 13 16 13 13 15 9 10 23
1110 12 1EET 7 4 3 3 5 7 3 6 4 1
1120 f21E STHT 3 0 0 0 0 1 2 1 2 0
1130 + &l 0 2 1 0 1 0 0 0 1 0
1140 Eq) 0 0 0 0 0 0 0 0 1 0
1150 FERET—TH 5 4 4 7 3 2 5 4 2 3
1160 FRETZTH 2 2 2 4 3 9 5 6 1 2
1170 JE7KHET 5 3 8 6 2 3 4 8 4 1
1180 EBEAHT 2 2 2 5 3 3 8 5 4 3
1190 EFAHT 4 9 4 4 1 6 2 4 5 2
1200 KFBE—TH 3 1 5 3 1 3 0 3 6 1
1210 KFE=TH 3 2 3 4 2 3 10 4 2 8
1220 FHT 2 1 8 2 4 5 2 2 4 3
1230 FXET 3 1 5 1 4 3 4 2 2 4
1240 =T 3 4 4 4 1 1 6 1 2 2
1250 TEEHT 1 3 2 5 4 3 5 4 0 3
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9999 I\ XET 78 69 66 84 65 68 65 73 69
1010 RFHET 4 6 7 5 5 3 10 10 6
1020 Naoyl:ii] 8 5 12 8 7 9 8 3 10
1030 m A ET 7 9 7 4 11 4 5 8 5
1040 75 FrHT 9 14 10 7 11 3 14 8 13
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4050 7K E/T 11 8 15 5 12 11 13 16 11 9
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9999 A BB X & 213 203 187 227 190 221 212 196 184 227
1510 HEHID L BT 26 23 16 13 20 16 18 25 21 23
1520 HE 1 T ET 19 12 13 17 24 23 18 14 24 20
1530 HEHD ST HT 13 10 8 5 9 6 12 14 16 7
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TEET (XF)3—F {TIHT (K=F) £ 50 51 52 53 54 55 56 57 58 59
7040 ZRTKEFHET 8 3 4 8 7 13 9 6 7 6
7050 Z REFEHIGHET 1 4 2 6 7 2 8 5 6 3
9999 ZR®MEXE 23 19 20 43 27 24 36 27 271 24
8011 IRAETFEERLY 2 1 4 2 3 2 1 3 2 2
8012 IRAETFRERA 7 4 7 4 7 6 3 6 5 6
8013 PR A BT 5 5B (X 0 1 2 2 0 4 5 3 1 1
8021 PRAET KLY 0 4 0 3 2 0 3 4 3 2
8022 IRAETIR KA 0 0 0 0 0 0 1 0 0 0
8023 IRAET KK 0 0 0 0 0 0 0 0 0 0
8031 IRAET R ALY 8 2 3 8 3 2 4 6 7 3
8032 IRARETR A A 0 0 0 0 0 0 2 0 2 2
8033 IRARET R A (X 0 0 0 0 0 2 1 1 0 1
8041 R AHT B40F L 0 1 0 2 1 3 2 1 1 5
8042 IRARETELIRA 1 0 1 5 1 1 3 3 1 0
8043 IR A BT LR 1 0 1 0 1 0 1 0 1 0
8044 IRARETEEIRIC 0 0 1 0 2 2 2 4 1 1
8045 N T ES 0 1 1 2 3 2 0 4 1 1
8050 IR A ET R A 5 5 3 2 3 5 3 7 4 2
8060 IR A ET 5 #8 4 4 2 4 8 6 6 5 6 8
8070 IRAETEAR 1 4 1 4 0 6 4 4 2 10
8080 IR A< BT Sk % 0 0 1 2 2 5 2 3 8 2
8090 PR A BT iEE 2 1 0 0 1 2 2 1 1 2
8100 IRARETH /R 0 0 0 0 1 0 0 0 0 0
8110 R ASHET )] 5% 1 0 1 0 1 4 0 2 3 1
8120 IRAETEE 7 4 1 0 3 1 2 3 3 1 2
8130 IRAETH £ 5 0 2 4 4 3 3 5 2 0
8140 IRABTBEXRT 5 4 5 3 3 5 2 4 3 6
8150 IRAETEEERL 4 2 5 3 2 3 2 3 8 1
9999 IRAR X & 50 35 40 53 49 65 55 72 63 58
9010 FTHEHIAREH 15 18 12 21 9 12 20 21 18 17
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9040 FTHEIEREH 32 43 29 3 39 38 50 36 39 33
9999 FTHREE 83 106 81 90 88 91 109 97 101 95
9110 HET AL 10 16 17 15 13 8 9 6 19 11
9120 =T HIE 8 7 8 4 3 3 6 6 1 9
9130 SREThE 2 1 9 4 7 4 6 9 4 3
9140 RET Tt 13 8 7 16 16 16 15 18 19 14
9150 SEET 65 10 14 9 15 20 18 14 10 9 19
9160 SERTEEHT 18 18 15 15 22 15 20 12 18 20
9170 $ERTN A 24 25 23 27 24 32 31 20 27 28
9180 SEHTEE 16 11 14 18 13 15 21 23 12 25
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9200 5 BT F7 5 6 3 5 13 10 9 10 7 10 11
9210 SRETE 5 11 8 5 15 18 11 8 19 8
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9230 SRET B M 17 23 17 17 22 19 26 23 18 20
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9310 R[ZHET AR 4 3 8 10 13 8 5 8 8 11
9320 RIETIL 5 10 9 7 5 9 8 11 5 14
9330 R IGET/INE 4 8 1 4 7 6 7 8 10 6
9340 R ISETE 20 18 13 13 9 7 13 8 13 18
9999 RGRXE 33 39 31 34 34 30 33 35 36 49
9410 RETT&E 16 8 9 15 8 12 11 16 17 10
9420 RETHHIE 5 6 5 4 8 4 3 11 11 4
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120 AT ARHT 7 4 11 5 6 6 4 6 7
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1230 HXHET 3 5 7 3 2 11 7 6 2
1240 =BT 4 0 1 3 4 3 6 3 4
1250 TEEHT 7 3 4 4 7 3 3 6 4
1260 pLN== 3 ] 1 4 1 1 0 2 1 2 1
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9999 ANHBERXE 237 193 210 198 234 236 291 242 233 146
1510 HEHID L BT 16 22 24 14 30 30 21 24 22 16
1520 HE 1 T ET 28 27 20 24 28 36 28 31 26 22
1530 FE #0 ST BT 13 13 10 10 11 12 12 10 20 8
1540 KIEFHT 21 23 18 21 18 23 23 16 26 6
9999 FERNAR: X B 78 8 72 69 87 101 84 81 94 52
2010 ZEHAET 2 3 3 4 2 8 10 10 10 3
2020 = BT 5 5 7 10 6 7 4 6 6 3
2030 p]: ) 1 0 0 0 1 1 6 1 2 0
2040 WET—TH 5 5 3 7 8 5 9 12 10 4
2050 HMET—TH 6 7 4 8 6 13 5 4 12 5
2060 ¥ RamT 3 2 2 0 1 2 4 3 2 2
2070 FET—TH 9 7 4 1 10 7 10 7 9 7
2080 FRETZTH 3 6 5 8 5 8 10 12 4 7
2090 iR AT 65 62 64 68 54 81 69 69 72 40
2100 ==p i1} 14 6 9 7 5 6 13 5 9 6
2110 HEHIFTET—T B 9 7 13 9 13 5 8 10 12 6
2120 FEHNFRET =T B 15 9 9 7 13 8 11 6 15 6
9999 ZEREXE 137 119 123 139 124 151 159 145 163 89
2510 FAUEET 60 52 55 59 51 64 73 81 64 38
2520 K EEET 28 44 28 39 45 41 43 40 28 25
2530 = /NEET 12 15 17 15 8 10 14 13 12 6
2540 Hi5HT 10 11 20 23 14 16 23 14 26 10
2550 JPET 11 6 7 10 10 5 7 7 7 7
2560 =1=1) 30 28 27 30 27 38 47 33 41 22
2570 KEHT 1 2 4 2 4 5 8 6 5 4
9999 nERRXE 152 158 158 178 159 179 215 194 183 112
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3590 ERT 0 0 0 0 2 0 1 1 3 0
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4010 )1 9T 14 4 9 12 10 17 19 16 20 12
4020 fE S HT 1 2 4 6 1 4 6 1 7 3
4030 5T 8 4 8 9 16 11 13 13 12 2
4040 = HE A ET 4 6 11 9 4 4 6 6 12 3
4050 7K E/T 18 18 15 18 22 18 18 14 19 5
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